

$$\left. \begin{aligned} a_1 + a_r + a_w = 11 &\rightarrow 3a_r = 11 \rightarrow a_r = V \\ a_1 + a_r + a_w = 10\omega &\rightarrow 3a_w = 10\omega \rightarrow a_w = 3\omega \end{aligned} \right\} \begin{aligned} d = 3\omega - V = 11 \\ a_1 = V - 11 = -11 \end{aligned} \quad \textcircled{V}$$

$$a_w - a_r + 9 = 3\omega - V + (-11) = \frac{V}{-11} = -\frac{1}{3}$$

$$\begin{aligned} a_1 + a_r + a_w = 1\omega &\rightarrow 3a_r = 1\omega \rightarrow a_r = \omega \Rightarrow a_1 = \omega - d \\ a_r + a_w = 2\omega &\rightarrow (a_1 + 3d) + (a_1 + 3d) = 2a_1 + 6d = 2\omega \\ 2(\omega - d) + 6d = 2\omega &\rightarrow \omega - d = 1\omega \rightarrow d = 3, a = \omega - 3 = 2 \end{aligned} \quad \textcircled{A}$$

$$a_n = 1 + (n-1)3 \rightarrow a_{10} = 1 + (10-1)3 \Rightarrow 27 + 1 = 28$$

$$S_9 = 9S_3 \quad \frac{a_{10}}{a_1} = ? \quad \textcircled{9}$$

$$\left. \begin{aligned} S_9 &= \frac{9}{2} (2a + 1d) \\ S_3 &= \frac{3}{2} (2a + 2d) \end{aligned} \right\} \begin{aligned} \frac{9}{2} (2a + 1d) &= 9 \times \frac{3}{2} (2a + 2d) \\ 9(a + \frac{1}{3}d) &= 9 \times 3(a + d) \rightarrow a + \frac{1}{3}d = 3d + 3d \\ d &= 3a \end{aligned}$$

$$a_{10} = a + 9d \Rightarrow a + 9(3a) = 3 \times 9d = 27$$

$$a_v = a + 9d \Rightarrow a + 9(3a) = 13a$$

$$a_1 = 11, a_v = 3\omega \rightarrow d = \frac{3\omega - 11}{V-1} = \frac{11}{9} = 1 \quad \textcircled{10}$$

$$a_r = 11 + 3d \Rightarrow 11 + 11 = 22$$

$$d' = \frac{13 - 11}{k+1} = \frac{-2\omega}{k+1}$$

$$a'_r = 11 + 3d' \Rightarrow 11 + 3\left(\frac{-2\omega}{k+1}\right) \Rightarrow 11 - \frac{6\omega}{k+1} = 23 \rightarrow \frac{6\omega}{k+1} = 1\omega \Rightarrow 1\omega k + 1\omega = 6\omega$$

$$k = 5$$